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= 929,009
Al 138,818
307 @120l & 1,067,827 1,045,004 22,823
== 929,009
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OL=0lAl4d 2] 1,067,827
[ 929,009
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C=0AE SAL SEE4E 27,480 28,080 2600
= 8,244
Al 19,236
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= 8,244
Al 19,236
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OL=QI=SXAIE (M) SAHK S84 27,480
== 8,244
Al 19,236
C=0A4 JIsEd 39,270 22,908 16,362
= 19,635
== 13,745
Al 5,890
401 AIEHIZ SR 0HYI 39,270 22,908 16,362
= 19,635
= 13,745
Al 5,890
01 AlZ2H| 39,270 22,908 16,362
OL=0AIE JIs22 39,270
= 19,635
= 13,745
Al 5,890
A= 185,000 180,000 5,000
= 166,500
= 12,950
Al 5,550
301 eEetE N = 185,000 180,000 5,000
= 166,500
= 12,950
Al 5,550
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Ae=X 23 4,500 4,500
201 eer23y| 4,500 4,500
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OX&=i 28 900
OXEIISAIAE FXl2eld 2,200
OEIPIESSE o= WIPVEEE S0 1,400
A XA 4,885,541 4,368,397 527,144
= 4,3%,987
[ 195,422
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= 1,800
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OXEZZANY =&l 2,000
= 1,800
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= 1,260
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11 AMISXAIEEX 6,000 0 6,000
OXNS A2 HE =4l A& 6,000
== 1,260
Al 4,740
DEsEJUE =42 222 KAOIE) 151,595 203,666 A52,071
= 136,436
Al 15,189
307 elztol & 151,595 203,666 A52,071
= 136,436
Al 16,159
05 212t =S 151,595 203,666 /52,071
OgII=SE1 N&H 15,964
= 14,368
Al 1,59%
Og|Il=sE2 K& 30,582
= 27,524
Al 3,088
ougll=sd N 12,726
= 11,453
Al 1,273
Oozds|II=8d K& 20,733
= 18,660
Al 2,073
OFEN=AZ X2 71,590
= 64,431
Al 7,189
2z2sEUs =22 2SR (AR) 1,201,568 1,519,339 A317,771
= 1,081,411
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307 lztol & 1,201,568 1,519,339 A317,771
= 1,081,411
Al 120,157
05 212t =S 1,201,568 1,519,339 A317,771
O3l M= X 138,050
= 124,245
Al 13,805
Osly =2 X 87,037
= 78,333
Al 8,704
OFEUL (Rt&t2l0laH, =) X 976,481
= 878,833
Al 97,648
NASE dgord Xd 8,743,846 8,491,297 252,549
= 2,357,900
[ 265,366
= 364,992
Al 5,755,588
KIS At=l= X X2 4,927,989 4,597,712 330,277
= 7,500
== 46,252
Al 4,874,237
SEALEIS X2 2el 43,410 41,410 2,000
201 er23| 16,900 16,900 0
01 At2tltl 16,900 16,900 0
OXNE=A ge=d 16,900
202 04t 4,500 4,500
01 =LHOHI 4,500 4,500
OXNE=A gFFA 4,500
307 @I2t01 & 22,010 20,010 2,000
10 Al SXAEEE 22X 22,010 20,010 2,000
ORE=Ala ¥ e &8 24| 22,010
SEAtEIS X2 X 1,594,719 1,915,634 A320,915
S 25,452
Al 1,569,267
301 LEtE N = 700,427 650,290 50,137
= 15,652
Al 684,775
03 A2 E A0S (XILTHH) 700,427 650,290 50,137
OZ&EE At SA2 28| 643,587
OSEASI K2 SAHA SExE 42,840
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Al 29,988
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== 2,800
Al 11,200
307 lztol & 894,292 833,992 60,300
= 9,800
Al 884,492
05 21t S 822,882 779,792 43,090
OLI2EEAtelsA2 23 822,882
1 AMEISXAEEXS 71,410 54,200 17,210
OJ=FEHIAY K& 39,200
== 9,800
Al 29,400
OSZAZEWAAMNY K 32,210
NSAt2ZEAME2E 76,300 74,620 1,680
= 300
Al 76,000
307 el2to| & 76,300 74,620 1,680
= 300
Al 76,000
03 PIAHHEE 22X 76,300 74,620 1,680
OT AN G A 2EE AN AR W= 1,000
== 300
Al 700
O AN A 2EE AT X2 75,300
A2l =XIEelsl X 22,000 21,380 620
307 elztol & 22,000 21,380 620
11 AMEISXAIEEXS 22,000 21,380 620
OZLHAIARI SR E 2] AFZHl X1 22,000
S|L=XE 3 42,560 40,800 1,760
307 @I2to1 & 42,560 40,800 1,760
04 QIZHHAMAIH 2 £ 42,560 40,800 1,760
OzZdat 5= 42,560
ANZERHE K& (HEAY) 2,677,000 2,103,068 573,932
301 2EN= 2,677,000 2,103,068 573,932
0 AR=SR22a= 2,677,000 2,103,068 573,932
OAt2I=2HE X 2,677,000
-ARSRRE S5 2,491,000
—AEI=R22F WS 136,000
—AE=R22E II=4| 50,000
ARSI Al SR 23 2 297,000 258,300 38,700
301 2eEN=S 297,000 258,300 38,700
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0 AR=R22as 297,000 258,300 38,700
OALRISXI20t A2 SRS A 297,000
ARISXAIE SAHL SXl+g K& 104,000 104,000 0
301 LEtE N = 104,000 104,000 0
03 A2 H A0S (XILTHH) 104,000 104,000 0
OAt2ISXIAIE SAHL =X+ I 104,000
MEISXAE SAL 2us A3 30,000 30,000
301 EtE NS 30,000 30,000
03 A 2H A4S (XL THH) 30,000 30,000
OAIRISRIAIE SAERL 2 Hl XI& 30,000
AMBIZXAIE SAHL S35t 10,000 8,500 1,500
201 er23| 8,000 4,000 4,000
03 Ar=EHI 8,000 4,000 4,000
OAI2ISXIAIE SARG Hetdst 8,000
301 EtE N = 2,000 4,500 /2,500
11 #AIAHIXIZ S 2,000 4,500 A2,500
OAZISXIAIE SAERL Szt 2,000
USAE & 22IHA 2= 15,000 0 15,000
= 7,500
= 4,500
Al 3,000
201 er2&y| 7,500 0 7,500
= 3,750
= 2,250
Al 1,500
2 s5=34l 7,500 0 7,500
OAIUIOIH HIOZ (AR ESIAHIA) IR 7,500
= 3,750
= 2,250
Al 1,500
301 EtE N = 7,500 0 7,500
= 3,750
== 2,250
Al 1,500
01 AR 2EHSHS(RDNEERTHE) 7,500 0 7,500
O1L=At flg= HaR X1 7,500
= 3,750
== 2,250
Al 1,500
e JISEL(NGLEEH) 16,000 0 16,000
= 16,000
402 2I2F X201 & 16,000 0 16,000
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T HASS M XY
el XFAeI =X X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 16,000
02 QI XHE AL E R (01X THE) 16,000 0 16,000
ORza44 JIsELAME 16,000
s 16,000
NASSAE 3,815,857 3,893,585 NTT,728
= 2,350,400
= 265,366
=S 318,740
Al 881,351
28=A 2,938,000 2,559,226 378,774
= 2,350,400
= 293,800
Al 293,800
301 EtE2 NS 2,938,000 2,559,226 378,774
= 2,350,400
= 293,800
Al 293,800
01 Al EE A2 (2RNEXMR) 2,938,000 2,559,226 378,774
O ==XX2H 2,938,000
= 2,350,400
& 293,800
Al 293,800
ooE 2ASSXRE A 100,000 100,000
301 EtE N = 100,000 100,000
02 MR 2HALFS(HAAS, XLHE) 100,000 100,000
OZare 2I9=X A2 A 100,000
NASE FRME OHHAIZ 200,000 200,000 0
301 Eet2 NS 200,000 200,000
02 ARSI SE AT S(FIANS, XLETHE) 200,000 200,000
OMASSE Fdg oHgX2 200,000
AZ7 SEAtd2te] K& 18,900 18,900 0
s 9,450
Al 9,450
201 er23| 8,250 8,250 0
= 4,125
Al 4,125
01 AtR2t2|HI 8,250 8,250 0
OSAAZXU &2 & AIZAR 22lAF
g 2dast 8,250
[ 4,125
Al 4,125
202 04| 1,200 1,200 0
= 600
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Al 600
01 2L AL 1,200 1,200 0
OAtefl2telg e =& 1,200
[ 600
Al 600
301 2eEN=S 9,450 9,450 0
= 4,725
Al 4,725
01 AR 2 HSFS(RRNEERTHE) 9,450 9,450 0
OAlZ = Atell2tel e A XI& 9,450
= 4,725
Al 4,725
SEAtel2t2lA 1248 X 184,395 180,987 3,408
[ 69,456
Al 114,939
101 e124d| 161,635 189,227 2,408
[ 58,076
Al 103,559
03 SR (RINHA) 222+ 161,635 189,227 2,408
OSESAtIZEIAL Q12| 116,152
s 58,076
Al 58,076
OSE At Z2IAL M= S(FEIMAHTHE) 45,483
202 04| 5,760 5,760 0
[ 2,880
Al 2,880
01 =LHOLI 5,760 5,760 0
OAtgl2tel 2= 5,760
= 2,880
Al 2,880
04 HASRE2SS 17,000 16,000 1,000
= 8,500
Al 8,500
04 SR (RIH 22N BE=RES S 17,000 16,000 1,000
OSEAd 22 EEEREE S 17,000
[ 8,500
Al 8,500
SEEA 26,900 26,900 0
201 2= 14,900 14,900
01 At2t2lt] 9,900 9,900
OSS XA AtR 2] 9,900
2 s5=34l 5,000 5,000 0
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OZXARtE S22 1,460
OZAXE 7= 2,100
OSEXZANERE FUE 2= 1,440
202 04| 12,000 12,000
01 =LHOLI 12,000 12,000
OSSXA H2FH 12,000
S|Y=RIXE 20,000 20,000 0
201 er23 | 11,300 11,300
01 At2teltl 11,300 11,300
Os|=ANE H2FA 11,300
202 04dl 8,700 8,700
01 =LHNHI 8,700 8,700
O3 Z=AXE gFFA 8,700
MNASSESY WsHIK 4,940 11,820 6,880
< 4,940
101 @124H| 4,520 11,083 26,563
= 4,520
M ORNZZ2NSE S 4,520 11,083 26,563
ONASESM DRH| ABES 2T 01
HH(RSHISE3) 4,520
= 4,520
201 =3 420 737 A317
& 420
01 AtR2t2|HI 420 737 A317
OMASESY NS AEF FA(0S
HISE3IH) 420
== 420
Sgatel 26,752 26,752
201 fet= 3| 13,680 13,680
01 AtR2t2|HI 13,680 13,680
OSg2cl ge=d 13,680
202 04| 13,072 13,072
01 =LHOLI 13,072 13,072
Oosgael g 13,072
Mol —= 20,000 20,000 0
= 20,000
201 et 3| 10,000 10,000 0
[ 10,000
01 AtR2telHl 10,000 10,000 0
OO0l 715 LEt+=ZY| 10,000
= 10,000
302 01 Mol 2 &= 10,000 10,000 0
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M LSS =X
o IR ZMETE (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ilzdg=g 17,600 17,600
201 er23 | 8,000 8,000
01 At2teltl 8,000 8,000
OJlzdg=d 6,000
OYESL =2 (RN AlMKHEISD) 2,000
202 04| 5,600 5,600
01 2LHA b 5,600 5,600
OJlz=dg g2 =8 5,600
203 g4l 4,000 4,000
03 A=A =] 4,000 4,000
OF2AH & SIX2EY =a 4,000
PIES- s, 112,000 112,000 0
301 EtE N = 112,000 112,000
02 A2 A6 (FHAAS, NLWE) 112,000 112,000
ONASE dY=2E= N 112,000
A= 64,643,435 54,520,933 10,122,502
= 58,179,092
= 4,525,040
Al 1,939,303
301 LEtE N = 64,643,435 54,520,933 10,122,502
= 58,179,092
= 4,525,040
Al 1,939,303
01 A2 HSFS(RNEERTHE) 64,643,435 54,520,933 10,122,502
O=tl|zdg+2 A 4AH20 64,643,435
= 58,179,092
[ 4,525,040
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M= g= 45,286 4,141 1,145
308 AHAIEMSOIH 45,286 4,141 1,145
08 WSEJ|A0He 2 & 45,286 44,141 1,145
O=eD|xdEZ X IS0 (==L 2F
X&) 45,286
SHAEHIZ 361,276 338,944 22,332
= 325,149
= 25,289
Al 10,838
301 EtE N = 361,276 338,944 22,332
= 325,149
= 25,289
Al 10,838
01 Al EEABZ2(2REEMR) 361,276 338,944 22,332
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T 25,289
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Al 27,000
Rz 351,436 351,436 0
= 351,436
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ORODIZMELTT L TSNS B2
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Atellzel MY e 250,457 224,775 25,682
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Al 72,739
101 @124t 211,387 185,705 25,682
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(@RSIE=a=10: I yol UN el Pl 149,992
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Al 9,000
Oz el At M==ZH(FEILREMR) 61,39
34 HAFRESS 39,070 39,070 0
s 31,256
= 5,470
Al 2,344
M SRAE(RINHS) 22X BE8E€28E2 S 39,070 39,070 0
Ol &eAI B8g J|1&2ARY=3a S 39,070
s 31,256
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Al A

2A: ZZ2 04!t
Hm: Lol =X =
thel: AZ2=XSA EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ZZ X0t 316,881,286 282,147,357 34,733,929
= 203,891,729
= 8,336,837
& 30,721,684
Al 73,931,036
Lol =X & 260,061,190 230,528,994 29,532,1%
= 174,593,612
= 4,877,652
& 24,196,126
Al 56,393,800
dZ2=XEX 228,938,316 200,245,214 28,693, 102
= 172,701,951
ax 4,669,741
& 15,056,988
Al 36,509,636
dz=1 29 12,980 12,980 0
201 B2 AY| 9,080 9,080
01 A=R2teld| 9,080 9,080
dz=X 24 2,800
OLoSEEE L =HLQ BES H2RFA 1,480
OZz==d H&E & 4,800
202 0idl 2,900 2,900
01 =LHO4b]| 2,900 2,900
OZ2=Nge = 2,900
203 AR F&lY| 1,000 1,000
03 A FAIH S| 1,000 1,000
OZ2=NAIMLRFE 1,000
Lol=sXa 29X 2,924,511 2,865,493 59,018
T 61,341
Al 2,863,170
202 0idl 2,300 2,300
01 =LHO4 b 2,300 2,300
OkoIsX2 J2 =& 2,300
301 LPENF 63,000 0 63,000
T 18,900
Al 44,100
02 MBI 2EHH S (HUYAHS, NSTHA) 63,000 0 63,000
OLoI=X2 SAHK EEH 63,000
= 18,900
Al 44,100
307 2I2+01A 2,844,211 2,826,193 18,018
& 42,441
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2A:

E M

X=]

200! 0t

Lol 23 =X

R NS

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

10 Al SXAEEHE 22X
OAIL g 224l XA

OAILIGI2E g XA (FIHAMM )

H

358,000
330,000
33,000
297,000
28,000

343,000

olgxtel L AtlEs XA (XXHER)

hoH

=

53,606,507
26,778,484
10,711,3%4
16,116,629

37,974,412

15,632,095

101 e124d|

hoH

=

150,763
53,586
21,434
75,743

157,747

A6,984

03 SR (RINHA) 222+
Okoldxiel gEIHIRA) 2124t

tel e RHSRA) AHI(FILA

hoH

=

150,763
107,172
53,586
21,434
32,152

43,591

157,747

6,984

hoH

=

106,300
53,150
21,260
31,890

106,970

AB70

hoH

=

106,300
106,300
53,150
21,260
31,890

106,970

A670

202 04|

hoH

=

2,000
1,000
400
600

2,500

A500

01 S0
O Xtel At

R
Bl

mhoH

=

2,000
2,000
1,000
400
600

2,500

AB500

Mo

2,351,800
1,175,900
470,360
705,540

37,691,165

/35,339,365

2,351,800

37,691,165

235,339,365




FA BZHO0HRIL
Hm: Lol =X =
&2l F2=EXNSA (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAl2g olgiicl g3l & 2SI 2,351,800
= 1,175,900
== 470,360
Al 705,540
04 HSRESS 17,096 16,030 1,066
= 5,574
== 2,230
Al 9,292
M SRA(RIHL) 22X EE2RE=s S 17,096 16,030 1,066
OLoldiie] 8 SRA) 2E88FE3
S 11,148
= 5,574
== 2,230
Al 3,344
OkolXiel EEIHSRA) 2E2Re3
S(FEIHMH) 5,948
307 el2tol & 50,978,548 0 50,978,548
= 25,489,274
& 10,195,710
Al 16,293,564
11 AMEISXAEEES 50,978,548 0 50,978,548
Oblzt=g  LolgdTte| et ¥ R3]
= 48,612,148
= 24,306,074
< 9,722,430
Al 14,583,644
Oulte=gt Loigite| gEit K& 2,366,400
= 1,183,200
< 473,280
Al 709,920
IEAHZ NS (XMHHEX) 162,137,186 150,103,074 12,034,112
= 145,923,467
[ 3,242,744
Al 12,970,975
301 LEIE NS 162,137,186 150,103,074 12,034,112
= 145,923,467
== 3,242,744
Al 12,970,975
01 Al 2E AL S(FREXM) 162,137,186 150,103,074 12,034,112
OPJESI= NI 162,137,186
= 145,923,467
S 3,242,744
Al 12,970,975
oIS ESAEIA 7,009,302 5,933,272 1,076,030




2A:

E M

X=]

200! 0t

Lol 23 =X

R NS

SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,510,871
=S 676,631
Al 1,821,800
307 @I2to| & 7,009,302 5,933,272 1,076,030
[ 4,510,871
= 676,631
Al 1,821,800
1 AMISXAIEEXS 7,009,302 5,933,272 1,076,030
Ol Es=sAbIA X 6,444,102
[ 4,510,871
= 676,631
Al 1,256,600
OLQIRESSHHIAAY HEHI (I
TH&) 565,200
SHEOIYS! SSHE A AHIA 317,740 238,408 79,332
= 168,870
Al 168,870
307 glztol & 317,740 0 317,740
s 158,870
Al 158,870
11 AR SXIAIEE 317,740 0 317,740
OS0! ZOHl STOFOHHHIA RS
e PNE] 317,740
[ 168,870
Al 158,870
LS HAR SHAIG(NALREH) 20,000 0 20,000
[ 20,000
401 A& HIX R0 20,000 0 20,000
S 20,000
01 Al&H| 20,000 0 20,000
OSSN 2 Wl ZMAL 20,000
= 20,000
LOISXIAIE XI& 31,122,874 30,283,780 839,094
= 1,891,661
[ 207,911
= 9,139,138
Al 19,884,164
dZAE 2 44,560 74,385 N29,825
201 er2&| 39,560 69,385 N29,825
01 At2teltl 16,860 46,860 30,000
OZZAE2E 4,860
OZz4, 28 UR= 5,000
oIl 2 NE HARIE =8 s 4,200
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FA BZHO0HRIL
Hm: Lol =X =
el =eISXAIE X3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMIIAIE 238l & SHOIE= 14,081,462
= 1,408,146
Al 12,673,316
OMII=RISXIAIE SALA SE+E 36,000
=S 10,800
Al 25,200
307 212+01& 99,576 132,336 A32,760
< 29,873
Al 69,703
10 Al SXAIEEHE2EHI2x 99,576 97,416 2,160
OL=CIHI0IHINME 29 9,576
= 29,873
Al 69,703
LZAIE 2| X (HEAY) 725,959 651,143 74,816
=S 504,801
Al 221,158
301 EtE NS 725,959 651,143 74,816
< 504,801
Al 221,158
02 NI 2EHSFHS(HAANS, XLH 725,959 651,143 74,816
OLRSAZAILXHA 725,959
== 504,801
Al 221,158
COIQUANLHEDISEY) A 357,110 140,000 217,110
= 178,555
& 124,989
Al 53,566
402 QI2F X201 & 367,110 140,000 217,110
= 178,555
< 124,989
Al 53,566
02 QI TH2AILEE(OIHTHE) 357,110 140,000 217,110
Oonlletel & e+ 323,950
s 161,975
s 113,383
Al 48,592
O NER AR HE=+ 33,160
= 16,580
=S 11,606
Al 4,974
COIQUAIE JSEL(XNILREH) 26,000 0 26,000
< 26,000
402 2IZtA=01A 26,000 0 26,000




FA BZHO0HRIL
Hm: Lol =X =
el =eIsXAE X3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 26,000
02 QI XHE AL E R (01X THE) 26,000 0 26,000
O8ZEE2LAA S JHI 26,000
s 26,000
V1|2 EIIAL A AtY 58,712 0 88,712
= 29,356
& 20,550
Al 8,806
402 QI”F X201 & 88,712 0 88,712
= 29,356
< 20,550
Al 8,806
02 QI TH2AILEE (01X THE) 88,712 0 88,712
OFIII|2 SIIAME X At 58,712
s 29,356
s 20,550
Al 8,806
d2E, 28, 0t=32 AIEXE 2,161,540 2,160,900 640
401 Al HIZL S 0HYI 952,500 624,100 328,400
01 Al&HI 950,000 621,600 328,400
OAl 27 d=28 ==+ 200,000
OAl 2% 2 AUE(3HL) 750,000
03 AIZ S THYI 2,500 2,500 0
OZ2€,28,01=332 AIEXI& 2,500
402 2I2FX=201H 1,209,040 1,536,800 A327,760
01 IR SASE X (XHMITHR) 1,209,040 1,457,800 A248,760
OSHsS E42¢ 2= 230,000
Osgs 224 d=3MA) 900,000
OZ2¢ AMEF0l SIS (BI2AR) 79,040
Zd2Y, 2F, 0232 MEXE (YY) 185,000 0 165,000
=S 165,000
401 Al HIZL 201 79,000 0 79,000
= 79,000
01 AlZ8| 79,000 0 79,000
OAlxR H2E 2= 52,000
-0 fUIPEEE 30,000
= 30,000
- oI 2XE3=2E 22,000
[ 22,000
otisits 28 &4 27,000
== 27,000
402 I2FX=01 & 76,000 0 76,000




FA BZHO0HRIL
Hm: Lol =X =
el =eIsXAE X3 (SH9 H2)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
< 76,000
02 QI XHE AL E R (01X THE) 76,000 0 76,000
Osts 324 ME=+ 76,000
-5 FESUOIMESZRE 5,000
< 5,000
-LIE2s 4d32Y 10,000
== 10,000
—-LI22S SUBAIOIEZZE 13,000
= 13,000
—-LI23S clEAIZotESZE 10,000
= 10,000
-L23S SFALXOHHESZE 5,000
== 5,000
-L23s 2UXRUH=32E 5,000
[ 5,000
—Oord Adze 7,000
== 7,000
-HES S22X0HHEZZE 21,000
S 21,000
d=2g 28N 1,274,830 1,256,072 18,758
= 209,942
Al 1,064,888
307 el2to| & 1,058,830 1,090,072 A31,242
= 209,942
Al 848,888
10 AlRISXAZEE 22X 1,068,830 1,027,900 30,930
O3dzg 244 1,044,480
== 208,8%
Al 835,584
ons=sgd=zg A& 5,230
= 1,046
Al 4,184
OnIsSEZ2g N (FIHHHE) 9,120
308 AHAIEHMSOIE 16,000 16,000
183 SIS U B 4 HASAIE 16,000 16,000
OZ2EY ML= 16,000
402 BIZtAH=01H 200,000 150,000 50,000
01 QI X2 AL E X (KHMITHE) 200,000 150,000 50,000
oZzd &I 7Y 200,000
Z2E dutgd] 2 =4 X& 1,404,260 1,143,177 261,083
= 649,661
[ 129,932




FA BZHO0HRIL
Hm: Lol =X =
el ==XIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 624,667
301 EtE NS 218,340 28,297 190,043
= 56,701
= 11,340
Al 150,299
01 Al EE AT Z(2DEXR) 113,402 28,297 85,105
dZ2E LRHIXAAS 113,402
= 56,701
& 11,340
Al 45,361
02 ARSI 2 XSG (FHAAHS, NLWE) 104,938 0 104,938
OZ2Y 2HIXIHAL (FILXMM ) 104,938
307 @120l & 1,185,920 1,114,880 71,040
= 592,960
= 118,592
Al 474,368
10 Al SXAAEEHE 22X 1,185,920 1,114,880 71,040
OZ2Y SHI| el XJAA 1,006,400
= 503,200
= 100,640
Al 402,560
OZ=¢ ot&J| d2dl K& A 179,520
= 89,760
& 17,952
Al 71,808
el sA sd 44,889,475 39,812,128 5,077,347
= 25,593,351
= 5,249,050
Al 14,047,074
el SXSH 44,889,475 39,812,128 5,077,347
= 25,593,351
= 5,249,050
Al 14,047,074
Zofel=sX =24 50,260 27,380 22,880
201 Ler=23| 47,380 24,500 22,880
01 AtR2telHl 30,380 21,500 8,880
ONA+29I2E 42 S 5,890
OZojel 2=sXa gF=a 3,500
OZe=sX g2 23 5,000
OANHIAZRE S22+ & HHIRA 16,000
2 s5=34l 17,000 3,000 14,000
O&dSJ| s8I A& s =2l 3,000
OloT TIHOIA SHRS S 3,000




2A:
PSER
o e

el

200! 0t
el =X s8
el =Xsd

SA - B GA(S) - NRA - B

Ofl &F2H

HMEE
Ofl &k2h

11,000

202 OH|

2,880

2,880

01 2L AL

O SXPS =&

2,880
2,880

2,880

ofelis =0 A=

o [ —

hoH

=

8,458,752
5,921,126

761,288
1,776,338

8,568,491

109,739

o

=

8,458,752
5,921,126

761,288
1,776,338

8,568,491

109,739

hoH

=

8,458,752
8,458,752
5,921,126

761,288
1,776,338

8,568,491

109,739

mhoH

=

1,769,505
1,238,653
212,341
318,511

1,727,521

41,084

Mo

=

—

,769,505
,238,653
212,341
318,511

—

1,727,521

41,984

Mo

=

—

,769,505
,769,505
,238,653
212,341
318,511

1,727,521

41,084

Mo

=

—

,055,497
738,848
126,660
189,989

1,070,820

N 15,323

hoH

=

—

,055,497
738,848
126,660
189,989

1,070,820

N15,323

Mo

—

,055,497
,055,497
738,848
126,660
189,989

—

1,070,820

N15,323




2A:

X ZH -
o=

200! 0t
el =X s8

chel: Fojol =XSA (Shol: % 2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
MASHOHR! &EHl & A X 7,964 9,400 A1,436

= 3,982
== 1,593
Al 2,389
301 2eEN= 7,964 9,400 A1,436
= 3,982
=S 1,593
Al 2,389
01 Al EEHS(FRDEXMH) 7,964 9,400 A1,436
O S=XEH X 7,964
= 3,982
= 1,593
Al 2,389
Zoelelzdl K& 324,182 173,112 151,070
= 259,346
= 45,385
Al 19,451
308 AHAIEMSOIE 324,182 173,112 161,070
= 259,346
= 45,385
Al 19,451
183 S| 2SS & AEAE 324,182 173,112 151,070
OZofel 2l=Hl X2 324,182
= 259,346
< 45,385
Al 19,451
ZOH XM XA 243,405 330,571 N87,166
= 10,974
Al 232,431
301 2N = 36,580 26,191 10,389
=S 10,974
Al 25,606
02 ARSI 2E A S(FIANS, XLETHE) 36,580 26,191 10,389
OAIZHE el Xt sHl A& 8,500
< 2,550
Al 5,950
O&e al=22=H X 28,080
= 8,424
Al 19,656
307 gl2to| & 193,325 260,880 A\B7,555
03 PIZAHHEE 22X 82,368 84,820 N2,452
OZOfIetM 23l 82,368
11 ARIEXAIEE X 110,957 116,060 25,103




A 2T
= Zojel =X s

s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O&=sZel JIsZII02 I 3,000
OZoHel HEwIH| 27,400
O&opelel & AL X1 30,000
OZOHATHH HAX Ast & A X2 36,857
OXNHMEOHS! e WFAS 3,400
OZofer 2103l 11,300
401 AlEHIZ 201 13,500 13,500
01 AlZH| 13,500 13,500
OHMUEM =2AE B2 13,500
oL X2 X2 (L LRtel) 1,715,310 1,643,556 71,754
= 857,680
= 343,040
Al 514,590
101 21A4H| 1,712,310 1,643,556 68,754
= 856,180
= 342,440
Al 513,690
MU IIRINZZENSES 1,712,310 1,643,556 68,754
OZofer eers 2xie 1,712,310
= 856,180
S 342,440
Al 513,690
201 et23| 3,000 0 3,000
= 1,500
= 600
Al 900
01 At2tltl 3,000 0 3,000
Ol Zets eXtel 3,000
= 1,500
S 600
Al 900
O L X2l XI& (AL Rt2l) 369,660 346,094 23,566
= 184,830
== 73,930
Al 110,900
101 e124d| 368,660 346,094 22,566
= 184,330
=S 73,730
Al 110,600
04 JIZtN2 2N S 2+ 368,660 346,094 22,566
OZ0HRl AIZHAI &Xtel 368,660
= 184,330
= 73,730




2A:
X XH -
o e

=aak

200! 0t
el =X s8
el =Xsd

SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 110,600

201 et 3| 1,000 0 1,000
= 500
= 200
Al 300

01 AtR2t2|HI 1,000 0 1,000
OZO0Her AIZFAI & Ate 1,000
= 500
= 200
Al 300

o LR X (SXLRel) 898,260 809,870 88,390
= 449,140
= 179,630
Al 269,490

307 elztol & 898,260 809,870 88,390
= 449,140
< 179,630
Al 269,490

11 AMEISXAEEE 898,260 809,870 88,390
OZoHel SXILAtel X 898,260
= 449,140
== 179,630
Al 269,490

AI2EZOH QI QHOFAIFA ALY 111,900 91,115 20,785
= 89,500
== 8,960
Al 13,440

307 212+01& 111,900 91,115 20,785
= 89,500
= 8,960
Al 13,440

11 AMISXAIEEX 111,900 91,115 20,785
OAIZTE 0! CFOFAF A AL 111,900
= 89,500
= 8,960
Al 13,440

LETHALAZS AL EXRAY 186,600 182,508 4,092
= 93,300
= 37,320
Al 55,980

307 gl2to| & 186,600 182,508 4,092
= 93,300
= 37,320
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2A:

X XH -
o=

200! 0t
el =X s8

Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Zoje! 2sXd S0 16,315,718 12,916,057 3,399,661

= 11,421,002
== 1,468,415
Al 3,426,301
301 2eEN= 16,315,718 12,916,057 3,399,661
= 11,421,002
=S 1,468,415
Al 3,426,301
01 Al EEHS(FRDEXMH) 16,315,718 12,916,057 3,399,661
ool s 16,315,718
= 11,421,002
= 1,468,415
Al 3,426,301
2SE2L s N 408,143 202,579 205,564
= 285,700
= 36,733
Al 85,710
301 EtE2 NS 408,143 202,579 205,564
= 285,700
= 36,733
Al 85,710
01 Al EE A ZS(2REXMR) 408,143 202,579 205,564
OZjel 2SXE(HSEX JHIXIH) 408,143
= 285,700
< 36,733
Al 85,710
ZOHUESKE =FIHKIE 725,030 613,340 111,690
= 217,509
Al 507,521
301 EtE N = 725,030 613,340 111,690
=S 217,509
Al 507,521
02 ARSI 2E A S(FIANS, XLETHE) 725,030 613,340 111,690
OZoH! &SXIA (=) 725,030
< 217,509
Al 507,521
o272 K 52,000 65,000 A13,000
301 LEtE NS 52,000 40,000 12,000
02 A2 XSG (FHAAHS, W) 52,000 40,000 12,000
Ol 27 ==cldl A& 52,000
BXRIPDIW2 22,800 18,735 4,065
= 18,240
= 1,824
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2A:

200! 0t

. ZOje =X S8
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZMA=X+ Nt PR 1,082
OHOHAEHIIAE HE 2 2oty Ha 503
ZoHe! EOAE XZ2HEH 2 117,678 283,430 A165,752
s 31,773
Al 85,905
307 @I2t01 & 117,678 104,834 12,844
< 31,773
Al 85,905
11 AMEISXAEEES 117,678 104,834 12,844
OO EoAIE XAHH =< 117,678
= 31,773
Al 85,905
oA FAIE 2 K& 4,807,328 4,276,008 531,320
= 3,344,129
= 295,640
Al 1,167,559
301 LEtE NS 30,000 10,000 20,000
= 9,000
Al 21,000
02 ANRI2HHSHS(HAAS, XNLH 30,000 10,000 20,000
OFHOMHANFAIL EIATH &S K3 30,000
= 9,000
Al 21,000
307 212+01™ 4,777,328 4,266,008 511,320
= 3,344,129
S 286,640
Al 1,146,559
10 AlRISXAIZEE 22X 4,777,328 4,266,008 511,320
OFOLNFAIE 2SHI(He) 4,777,328
= 3,344,129
= 286,640
Al 1,146,559
ZOHRIH=AIE 2 XIS (XIXHA) 910 1,920 A1,010
== 273
Al 637
307 212+01& 910 1,920 /1,010
[ 273
Al 637
02 LB HAHE L 910 1,920 21,010
OO H=F=AIE COTVRIEH] X 910
= 273
Al 637
ZOHAXN S HEXAME 28 N2 176,345 0 176,345




2A:

X XH -
o=

200! 0t
el =X s8

s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 70,538
Al 105,807
307 lztol & 176,345 0 176,345
= 70,538
Al 105,807
11 AMEISXAIEEXS 176,345 0 176,345
OIS LEXNALEH 28 176,345
= 70,538
Al 105,807
U SSHEAIE =S 460,890 446,170 14,720
< 46,089
Al 414,801
307 212+01& 460,890 446,170 14,720
& 46,089
Al 414,801
10 Al2ISIIAIEEE 22X 460,890 446,170 14,720
OHMl=SdEAE 23| 460,890
= 46,089
Al 414,801
oIS =EA2 23| 1,929,464 2,047,210 A7,746
s 375,400
Al 1,554,064
307 @I2t01 & 1,877,000 1,836,000 41,000
& 375,400
Al 1,501,600
10 Al2ISTIAIEEE 22X 1,877,000 1,836,000 41,000
O SE=A2 2| 1,877,000
= 375,400
Al 1,501,600
402 2IZtA=01d 52,464 211,210 N 158,746
01 eItXt= ALY (REAITHE) 52,464 211,210 A158,746
OIS =2t LeHI0IH wX B2
ZAH 52,464
o F=2AES A4 23] 1,137,500 1,102,600 34,900
[ 227,060
Al 910,440
307 glztol & 1,137,500 1,102,600 34,900
= 227,060
Al 910,440
10 Al SAAIEEHE 22X 1,135,300 1,102,600 32,700
OZUFAESAIE 2| 80,000
= 16,000
Al 64,000




2A:
PSR
ool

A2EHOH QI
ool 2X =X
ool X=X

SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHHRIFUESAIE Q24| 1,008,300
= 201,660
Al 806,640
OF0Hel OrRt== A 23| 47,000
=S 9,400
Al 37,600
11 AMEISXAEEES 2,200 0 2,200
O3 2LLt=F2AESHE I 8N Gl=
gaym 2,200
O MEO|SKRME 2 314,000 302,000 12,000
= 62,800
Al 251,200
307 @20l & 314,000 302,000 12,000
=S 62,800
Al 251,200
10 Al SXA2EE 22X 314,000 302,000 12,000
OZ Q! ME0ISAHEH 2] 314,000
< 62,800
Al 251,200
= SAHE 22| 276,000 268,000 8,000
= 55,200
Al 220,800
307 el2tol & 276,000 268,000 8,000
= 55,200
Al 220,800
10 MEISXAAEHE2EHIE2X 276,000 268,000 8,000
O=0iSauH =28l 276,000
s 55,200
Al 220,800
SJOHU XS HEAIE 22| 976,005 832,489 143,516
& 191,601
Al 784,404
307 glztol & 958,005 832,489 125,516
= 191,601
Al 766,404
10 Al SXAAEEHE 22X 958,005 832,489 125,516
O AN MEAL 2SI 958,005
= 191,601
Al 766,404
402 212+ X=201H 18,000 18,000
01 IR SASE X (XHMITHR) 18,000 18,000
OIS S MM B3
At 18,000




2A:

X XH -
o=

200! 0t
el =X s8

Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JOHASXAIE SA SE+E 307,000 260,000 47,000

= 92,100
Al 214,900
301 EtE N = 307,000 0 307,000
= 92,100
Al 214,900
02 AR 2HHSFS(HAAS, XNLHE) 307,000 0 307,000
OHMI=SXAE SAHL S8 307,000
s 92,100
Al 214,900
Z0HQ JIEXJ A HH 182,111 177,777 4,334
& 54,633
Al 127,478
307 elztol & 182,111 177,777 4,334
= 54,633
Al 127,478
1 AMEISXAEEXS 182,111 177,777 4,334
OZ SN X2 182,111
= 54,633
Al 127,478
ZOoHe! B S 206,604 202,500 4,104
[ 61,981
Al 144,623
307 glztol & 206,604 202,500 4,104
== 61,981
Al 144,623
11 AMEISXAIEEE 206,604 202,500 4,104
OZ B WFHE K 206,604
= 61,981
Al 144,623
ZOHRIHFAIE AL 29Y 22,790 20,690 2,100
307 @I2t01 & 22,790 20,690 2,100
10 Al SXAEEE 22X 22,790 20,690 2,100
OFOHANFAIE AR (HESE) 2 22,790
SJOHUMEAIE ==X dAHS0 340,000 392,315 A52,315
= 306,000
s 23,800
Al 10,200
301 EtE NS 340,000 392,315 A52,315
= 306,000
= 23,800
Al 10,200
01 Al EE A S (2 RNEXMA) 340,000 392,315 A52,315




2A:

200! 0t

. ZOje =X S8
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHUMAAE S A HHSO 340,000
= 306,000
== 23,800
Al 10,200
ZUF=UESAIE JIsEH 8,000 23,502 15,502
= 4,000
== 1,200
Al 2,800
402 2I2E X201 & 8,000 23,502 15,502
= 4,000
= 1,200
Al 2,800
02 BIENZASEZ(0IETHR) 8,000 23,502 15,502
OFMZZM=SLRAFAESHEH W]
- 4,000
= 2,000
= 600
Al 1,400
O LA E O =2 2SS HE A WA 4,000
= 2,000
= 600
Al 1,400
ANEZS TS MA 2= AEAME 2E 515,166 0 515,166
= 257,583
= 77,275
Al 180,308
307 @120l & 515,166 0 515,166
= 257,583
= 77,275
Al 180,308
11 AMEISXAIEEXS 515,166 0 515,166
OAlIZZ ol THEXIE MAT= K& 515,166
= 257,583
S 77,275
Al 180,308
ZESS L2 =2F JHE LU XA 228,823 0 228,823
= 114,412
& 34,323
Al 80,088
307 lztol & 228,823 0 228,823
= 114,412
< 34,323
Al 80,088




2A:
X XH -
o e

=aak

200! 0t
el =X s8
el =Xsd

ol vy

HMEE
Ofl &k2h

hoH

=

228,823
228,823
114,412
34,323
80,088

HASE XES AIBIMEIA X2

oA

=

10,389,341
3,704,766
3,489,185
1,276,508
1,948,882

8,952,465

1,436,876

AEIMEIA K&

oW

=

10,389,341
3,704,766
3,459,185
1,276,508
1,948,882

8,952,465

1,436,876

Atal AHI A

5,900

5,900

201 er2&|

2,300

2,300

01 AtR22telbl
OAtzlMHIA &

o
SEA

2,300
2,300

2,300

202 04l

3,600

3,600

01 =LA LI

OAlIMHIA SR

X

=
T

3,600
3,600

3,600

2]

NEXEE MIIMHIA EXAIY (EX)(42) > S&

SRR

=

4,941,691

3,459,185
741,253
741,253

4,329,981

611,710

Mo

=

8,500
5,950
1,275
1,275

2,800

5,700

01 AF22t2ltl

OXNYGREEAMIIMHIAZEIIAIY 23]

Oga=sSAtbIA AIE 23|

= M i

SRR

=

8,500
2,500
1,750
375
375
6,000
4,200
900
900

2,800

5,700

202 04l

SRR

2,000
1,400
300

2,000




S ZRE0RID
3 MLS8 QCZS-%* A2l ABIA XIZ
St AlRIAHIA X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 300
01 2L AL 2,000 0 2,000
OZYESSAHIA AHE 23] 2,000
[ 1,400
= 300
Al 300
307 @20l & 4,931,191 4,327,181 604,010
[ 3,451,835
= 739,678
Al 739,678
05 212t =S 4,931,191 4,327,181 604,010
OXNAXSE A MEIAE ALY HIES (K
AMEIMHIAERIAIY) 3,451,341
[ 2,415,939
= 517,701
Al 517,701
OXAXISEAS MHIAE XA GIES (04
ARFHU 22| ALK R) 842,214
[ 589,550
= 126,332
Al 126,332
OXNAXSE A MHIAETIALS CIES(H
EHOISAZHSH) 66,208
[ 46,346
= 9,931
Al 9,931
OXISGXSE ALSI MHIAE XA HES (L
ASSMHIAAY) 571,428
[ 400,000
= 85,714
Al 85,714
2EMEAMEIL BIRH XS 1,389,918 1,338,264 51,654
= 972,943
= 138,992
Al 277,983
307 gl2to| & 1,389,918 1,338,264 51,604
= 972,943
= 138,992
Al 277,983
05 212t S 1,389,918 1,338,264 51,654
OZLMEMHIA BISHXZAY HES 1,389,918
= 972,943
< 138,992
Al 277,983




FA BZHO0HRI
M HASE SEE AEAEIA X3
St AlRIAHIA X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AHLEXE H=RH K& 25,920 26,010 A0
= 18,144
== 2,592
Al 5,184
307 212+01& 25,920 26,010 A0
= 18,144
=S 2,592
Al 5,184
05 git?(& = 25,920 26,010 A0
OAUNHLELXNH BIRXXZ A &= 25,920
= 18,144
= 2,592
Al 5,184
22T FRA4EXH 20,743 20,743 0
= 14,520
= 1,867
Al 4,3%
307 gl2to| & 20,743 20,743 0
= 14,520
= 1,867
Al 4,3%
05 21t S 20,743 20,743 0
OgEHe RIS XAAIY HES 20,743
= 14,520
< 1,867
Al 4,3%
LEH =S N2A 3,170,655 2,641,804 528,851
= 2,115,000
< 316,697
Al 738,958
307 lztol & 3,170,655 2,641,804 528,851
= 2,115,000
== 316,697
Al 738,958
05 2ItRIE = 3,170,655 2,641,804 528,851
O22He FUHESAHIA ALY 3,021,429
= 2,115,000
=S 271,929
Al 634,500
OLL T F2HESAHIA FIOLRIJ (O
=0) 149,226
= 44,768
Al 104,458
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od
i’
o
uJ

-

KIO

Hlw

66,450
66,450
46,000
46,000

50,000
50,000
AT40
25,000
25,000
25,000
25,000

A633,000
638,000

HMEE
Ofl &k2h

1,500
1,500
303,550
303,550
30,000
30,000

1,133,000
1,133,000
48,220
30,000
30,000
30,000
30,000

Ofl &F2H

40,000
150,000
1,500
1,500
1,500
370,000
75,000
110,000
130,000
5,000
20,000
4,000
6,000
76,000
76,000
31,000
45,000
495,000

370,000
20,000

15,000
480,000
50,000
50,000
50,000
47,480
25,000
25,000
25,000
25,000
25,000

495,000

- HyS

- SRA(3) - HIRAEY

S - B

dl

NG 22
JI EHl

2|

e

o
=
=
=

t

— AlEEH| |l
k=l

-s5t

202 044l

01 =LHOLI

01 M=4l
OZLHCHRE Al
OU
O3

307 212+01&

206 =4I

no
wr
oF
~J

o)

04
el
Al

[SHl

01 AlZH|
F
01 Xpatgd

401 AIZHIZ 20

405 Xt

0H

4,260
4,260
4,200
4,200

2200

18,220
18,220
13,800
13,800
4,420
4,420

82,200

18,000
18,000
18,000
4,480
4,480
4,480
82,000

22,480

01 2=
01 AtR2te|b]
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OZLAOISES M 2|2 SAHL EE8+8 50,768
= 15,230
Al 35,538
11 AMISXAIEEX 6,226 0 6,226
OZAAIOISESHEI |2 OtSsil alclat
&, Xzdl X& 6,226
< 1,868
Al 4,358
A0S IS 239,410 262,010 22,600
Jl 167,587
[ 35,912
Al 35,911
301 LEIE NS 239,410 262,010 22,600
Il 167,587
== 35,912
Al 35,911
01 Al 2E AL S(FRNEXME) 239,410 0 239,410
Ogots sd=s+2 X 208,800
7l 146,160
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2A:

M 98 = K
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 237,460
OrSSA K (HE, YeE) 278,100 247,200 30,900
Jl 69,525
Al 208,575
301 2eEN= 278,100 247,200 30,900
7l 69,525
Al 208,575
01 A2 HSHS(RNEERTH) 278,100 247,200 30,900
ogss otssa N 81,000
Jl 20,250
Al 60,750
OuE Ots3A NE 197,100
Il 49,275
Al 147,825
Ots24l XA (EIIT) 85,500 66,500 19,000
& 85,500
301 EetE2 NS 85,500 66,500 19,000
s 85,500
02 AR 2EH GBS (FHAAS, NLH 85,500 66,500 19,000
Os1E SANE (NS SE3H) 85,500
= 85,500
ots=+=gXi= 13,404,746 14,856,716 A1,451,970
= 10,723,7%
== 1,340,475
Al 1,340,475
301 22N = 13,404,746 14,856,716 1,451,970
= 10,723,7%6
= 1,340,475
Al 1,340,475
01 Al EE A S (FRNEXA) 13,404,746 14,856,716 1,451,970
O0ts+=&XI& 13,404,746
= 10,723,7%
= 1,340,475
Al 1,340,475
RES0ts B A& 196,727 223,500 ND6,773
== 31,825
Al 164,902
201 2= 4,200 4,200
01 At22t2l] 4,200 4,200
OMelZ28RHe 29 4,200
301 EtE NS 192,527 219,300 NP6, 773
= 31,825
Al 160,702




2A:

ZH: 2% 1% K2
Cel OISEXAIL X2 ¥ 2E501E 2554 (69 =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 192,527 219,300 ND6,773
O8I 2=l A& 129,667
= 12,967
Al 116,700
OESlaots Moty & 62,860
s 18,858
Al 44,002
d20tsE=3H A& 36,000 24,000 12,000
= 25,200
=S 3,600
Al 7,200
301 EtE NS 36,000 24,000 12,000
= 25,200
= 3,600
Al 7,200
01 Al EE AT S (2 RDEEMA) 36,000 24,000 12,000
Od=20tsEsHl A& 36,000
= 25,200
= 3,600
Al 7,200
oelold I8 31,900 28,880 3,020
301 LEN= 10,000 10,000 0
03 A2 E A0S (XL THH) 10,000 10,000 0
OAtI=XIAIE Oelole Fot=XI2 10,000
307 212+01& 21,900 18,880 3,020
11 AMEISXAEEES 21,900 18,880 3,020
OO0lglol 2 21,900
OlSESHERA XA (AIH]) 35,000 356,000 0
= 28,000
< 3,500
Al 3,500
201 =3 7,500 7,500 0
= 6,000
=S 750
Al 750
01 AtR2te|Hl 6,400 6,400 0
O0ls2sdgRE =23l 6,400
[ 5,120
= 640
Al 640
02 s3=gHl 1,100 1,100 0
OOtSESHEREY RS Shlt| 1,100
[ 880




2A:

I N R
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 110
Al 110
202 04l 10,000 10,000 0
= 8,000
< 1,000
Al 1,000
01 2LHoIH 10,000 10,000 0
OOtSESHERA 0l € wsEat| 10,000
= 8,000
== 1,000
Al 1,000
301 EtE NS 17,500 17,500 0
= 14,000
== 1,750
Al 1,750
01 Al 2E A S(SRNEXMH) 17,500 17,500 0
OltsEsdE A NI A2 S 17,500
= 14,000
=S 1,750
Al 1,750
Stiiuloliots &8 =< 495,788 474,364 21,424
= 198,312
= 148,738
Al 148,738
307 @12t01 & 495,788 474,364 21,424
= 198,312
= 148,738
Al 148,738
10 Al SXAIEEHE 22X 432,494 474,364 241,870
Osttiulclotsd s =gl 25,574
= 10,228
= 7,672
Al 7,674
Ostiiulahotsa s el2b| 406,920
= 162,768
= 122,076
Al 122,076
11 AMEISXAIEEXS 63,294 0 63,294
OstHUIcHOtS & AtbI 63,294
= 25,316
= 18,990
Al 18,988
Or=stth s 25,720 25,720 0




fA: OlsE A

ZH: 2% 1% K2
cl: OFSSEXAE Xd & RESOE 2554 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 13,720 13,720
01 At2teltl 10,000 10,000
O0tsEs HRF& 10,000
02 S3=gl 3,720 3,720 0
OXtgE= Al 1,200
O=UaE3s || 2,400
O2lE®st sl 120
202 04l 6,000 6,000
01 2LHoIH 6,000 6,000
O0tsEs YREx 6,000
301 EtE N = 6,000 6,000 0
02 A2 XSG (FHAAHS, NSWE) 6,000 0 6,000
OgRAZH & acIZ A 6,000
OLSSITH Ol AL 20,000 20,000
307 @I2t01 & 20,000 20,000
11 ARISXAIEE X 20,000 20,000
OO0tS= T W SAH 20,000
KNS 0tsHE 249Hl & 833,256 827,638 5,618
= 416,628
== 208,314
Al 208,314
301 2= 833,256 827,638 5,618
= 416,628
= 208,314
Al 208,314
01 Al EE A S(FRDEXA) 833,256 827,638 5,618
OXlgotsHt 2&Hl X1 833,25
[ 416,628
= 208,314
Al 208,314
AS0tSHE lAd| XA 4,604,700 3,897,808 706,892
[ 2,302,350
= 1,151,175
Al 1,151,175
301 LEetE N = 4,604,700 3,897,808 706,892
[ 2,302,350
= 1,151,175
Al 1,151,175
01 A2 HSFS(RNEERTHE) 4,604,700 3,897,808 706,892
OXS0otsHIE Al K& 4,604,700
= 2,302,350
< 1,151,175




fA: OlsE A

M 98 = K
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 1,151,175
AGotsdE Ootss4a A 2,624,000 2,624,000 0
== 656,000
Al 1,968,000
301 2eEN= 2,624,000 2,624,000 0
< 656,000
Al 1,968,000
02 MBI 2HHSFHS(HAANS, XLHE) 2,624,000 2,624,000 0
OXS0tSHE OtsaAl XIE 2,624,000
= 656,000
Al 1,968,000
NSOtSHE SALA SE4E 47,200 47,200 0
=S 9,440
Al 37,760
301 EtE NS 47,200 47,200 0
S 9,440
Al 37,760
03 AR 2H A5 S(XILH) 47,200 47,200 0
OXNS0ISHE SAHL &2 47,200
= 9,440
Al 37,760
NSOtSHE SALA S84 197,640 197,640 0
= 39,528
Al 158,112
301 EtE2 NS 197,640 197,640 0
s 39,528
Al 158,112
03 Al 2H A4S (XL THH) 197,640 197,640 0
OXISOtSHIE SAHA S84 197,640
[ 39,528
Al 168,112
NSotsSHE 2388 FotKI& 27,600 27,600 0
= 8,280
Al 19,320
301 LEetE N = 27,600 27,600 0
= 8,280
Al 19,320
02 NBI2HHSFS(HAAS, NLHE) 27,600 27,600 0
OXH0otsHlE 28] ORI (<) 27,600
== 8,280
Al 19,320
KS0otsHE SAHA 2124H] =It XI& 374,012 186, 170 187,842
= 112,204




2A:

ZH: 2% 1% K2
cl: OFSSEXAE Xd & RESOE 2554 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 261,808
301 LPBNF 374,012 186,170 187,842
T 112,204
Al 261,808
02 ANSIBEEHS(FHLHS, NYME) 374,012 186,170 187,842
OXIS0tsHIE SARE o1Hd] =LK 374,012
= 112,204
Al 261,808
XNE0otsHE T2 | IR 472,546 400,056 72,490
& 141,764
Al 330,782
301 LPENZ 472,546 400,056 72,490
& 141,764
Al 330,782
02 AISIBEESHS(HLHS, NSME) 472,546 400,056 72,490
OXN<Y0tsHIe T2 08| =IHAIA 472,546
& 141,764
Al 330,782
XEotsHE 29X 885,787 867,645 18,142
201 L2 AH| 3,100 3,100 0
01 AtR2elt] 3,100 3,100 0
OXGotsHe R 3,100
202 0idl 3,100 3,100
01 =LHO4b| 3,100 3,100
OXlg0otsHdle S0 3,100
301 LB F 846,077 829,465 16,612
02 ASIBEESHS(FHLHS, NSME) 846,077 829,465 16,612
OXIE0otsHH xteed] 82,800
OXI0ots4dE otsu =] 54,000
Oz=AZelAF oAl XI& 567,677
OXI0t=sHIE SAR M| 141,600
307 212+01™ 33,510 31,980 1,530
11 Al =SXAMEES 33,510 31,980 1,530
OX40tsdH FHHAEY HH3| A& 5,900
ooglol stor2sH XA 14,000
OXIS0tsHE SAIA 2= K& 5,110
OXS90t=s4dH stite =HAEY 8,500
E49E XNYG0tsHE FOHKIA 14,400 22,560 8,160
= 7,200
& 3,600
Al 3,600
301 LPENSZ 14,400 22,560 8,160




2A:

ZH: 2% 1% K2
=Rl OISSAAME K2 € 2250t 255d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,200
=S 3,600
Al 3,600
01 Al E2E AL S(FRDEXH) 14,400 22,560 28,160
OS=+==8d XNH0tsdy I 7,200
[ 3,600
= 1,800
Al 1,800
OER2YE XA0otsHE FIHIA 7,200
[ 3,600
= 1,800
Al 1,800
NEOotSHE OtSSAIWAL LHAXIE 296,000 289,695 6,305
[ 148,000
= 74,000
Al 74,000
101 @12A4H| 296,000 289,695 6,305
[ 148,000
= 74,000
Al 74,000
MU ORINZENSES 296,000 289,69% 6,305
OXISotsSHIE OtS=XIWAHIIZA) THA
A& 296,000
[ 148,000
= 74,000
Al 74,000
XHOotSHIE SZBHLAIL (XA =) 19,900 0 19,900
= 19,900
402 BIZtAH=01H 19,900 0 19,900
= 19,900
02 RIENZASEZ(0IETHR) 19,900 0 19,900
OAES SEEXN0tEHH SA3MEAY 19,900
== 19,900
CEHARE AME XIE 767,113 746,920 20,193
[ 484,169
= 60,522
Al 222,422
KNS ESHAEE SeAtdl2el X 705,213 689,020 16,193
= 484,169
[ 60,522
Al 160,522
101 @124H| 366,993 345,800 21,193
s 213,593




A OlsER L
A 9% 015 K
Chel: S2IAEE AR XI& (SH9 H2)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
< 26,700
Al 126,700
03 SRH(RINAHA) 222+ 366,993 345,800 21,193
OOISSEARIZZIAL Q12AHI (201, Sl ==
=, A12t2]) 264,593
= 211,673
== 26,460
Al 26,460
OOtsSEAtIZ2IAL =S (FILRHATHR) 100,000
OEZAERE #IHHIOIN 285+E 2,400
[ 1,920
= 240
Al 240
201 fer23y| 58,550 58,000 550
[ 46,840
= 5,85
Al 5,85
01 At2teltl 32,000 32,000 0
OLEEAERE T2 24 2 ¢4 =4 32,000
= 25,600
[ 3,200
Al 3,200
2 s5=34l 5,000 5,000 0
OLEAEE MEE2 | 2= 5,000
= 4,000
== 500
Al 500
03 AL SHI 21,550 21,000 550
OLEEAERE T2 24 21,550
= 17,240
== 2,155
Al 2,185
202 04l 19,800 19,800 0
= 15,840
[ 1,980
Al 1,980
01 2LHoIH 19,800 19,800 0
OEEARE A2 us & £ 04| 19,800
= 15,840
== 1,980
Al 1,980
206 MH=HI 13,000 10,000 3,000
s 10,400




A OlsER L
M BRI X
chel: SEAEE MY X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,300
Al 1,300
01 MHZH| 13,000 10,000 3,000
OEEALEE X208 2a3Ms 72 13,000
= 10,400
< 1,300
Al 1,300
301 EtE NS 26,950 34,620 AT,670
= 21,560
== 2,69
Al 2,695
01 AR 2EHSHS(RNEXRTHE) 7,700 11,620 23,920
CEHAEE Z20H 24 7,700
= 6,160
=S 770
Al 770
11 AALEEIXIE S 1,000 1,000 0
OEEAERE Z20H 24 1,000
= 800
=S 100
Al 100
14 JIEt2 = 18,250 22,000 A3,750
OEYARE 2208 23 ZAsE 18,250
= 14,600
=S 1,825
Al 1,825
WM H=sFEE=S 35,000 40,000 25,000
= 28,000
=S 3,500
Al 3,500
M BRA(RIAHY) 22N BEERE=s S 35,000 40,000 25,000
OESAERE OlSSE A2l AL 1S &Y
28 RE3012) 35,000
= 28,000
= 3,500
Al 3,500
307 212+01& 184,920 180,800 4,120
= 147,936
= 18,492
Al 18,492
1 AMISXAIEEX 184,920 180,800 4,120
OEEHARE 2208 23 184,920
[ 147,936




£A: OtsZ 3t

B 22015 X8
chel: SEAEE MY X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 18,492
Al 18,492
Ol==X S8 AHlA K& 50,400 46,400 4,000
201 er2 3| 43,400 43,400 0
01 AtR2te|Hl 32,400 32,400 0
OCEEHAERE AIRA IX= 32,400
02 S3=gHl 11,000 11,000 0
OEEAEE S3=22H| 11,000
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
OZEAHE /A EH0Y 3,000
405 AHaHE S 4,000 0 4,000
01 ML ESFSHI 4,000 0 4,000
CEAHE Wy #Y 4,000
OOl AJMH 28 R 2el 11,500 11,500
201 er2 3| 8,500 8,500
01 AtR2t2|HI 4,500 4,500
OOIOIZAINH & OfRIOIZY SAHZ 2
g 3l 4,500
2 S5=2g4l 4,000 4,000 0
OO0l A SS2H| 4,000
405 AHatE = 3,000 3,000
01 ML ESFSHI 3,000 3,000
OO0ROIEAIMH & Ol EA2 2
I=E 7Y (BHE S) 3,000
YA HHI(OtSHE24m) 573,420 556,248 17,172
s 219,120
s 109,560
Al 244,740
olE2ddl(or sy &) 543,240 525,688 17,552
[ 219,120
= 109,560
Al 214,560
QIARHAH|(OtSSXI WAL BRA) 2I24H| X2 543,240 525,688 17,552
[ 219,120
= 109,560
Al 214,560
101 @124H| 496,240 470,080 26,160
= 195,620
& 97,810
Al 202,810
03 SRH(RINAHA) 222+ 496,240 470,080 26,160
OXS0tSHE OtSSAIWA THAXA 391,240
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Gl HAE D
e =X S
FHBS (crel &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SHAEDL 33,597,824 26,342,341 7,255,483
= 7,048,302
= 466,693
| 6,561,150
= 3,803,556
Al 15,718,123
o =X & 9,420,907 9,211,688 209,219
= 227,400
iy 466,693
| 4,740,588
& 1,475,963
Al 2,510,263
AHES 6,929,425 6,725,913 203,512
= 227,400
| 4,125,831
T 816,643
Al 1,759,551
HAEst22 NS 43,800 40,949 2,851
| 35,040
& 4,380
Al 4,380
301 LPENF 43,800 40,949 2,851
| 35,040
& 4,380
Al 4,380
01 AISIBE XS (2 RETME) 43,800 40,949 2,851
OF2HRE NEXI& 43,800
J| 35,040
= 4,380
Al 4,380
SIRRIIE AHHL=sH S X2 5,085,450 4,780,120 305,330
J| 4,068,360
= 508,545
Al 508,545
301 LPENZ 5,085,450 4,780,120 305,330
| 4,068,360
= 508,545
Al 508,545
01 Al B&X2HZ2(2REETR) 5,085,450 4,780,120 305,330
Ost22IIENELSHIS(0ISS=H|, 58
ZH| , MEEXZ2E) 5,085,450
| 4,068,360
& 508,545




SA: OlAIIEEAED
Ha: 04 =X 2
SE RS (c

SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 508,545

A5 SRZIHE A& 553,300 505,700 47,600
== 165,990
Al 387,310

301 2eEN= 553,300 505,700 47,600
< 165,990
Al 387,310

02 MBI 2HHSFHS(HAANS, XLHE) 563,300 505,700 47,600
ONAS 220 Ma el 563,300
= 165,990
Al 387,310

SLRESXAE X2 639,89 655,233 15,338
=S 100,087
Al 539,808

301 EtE NS 23,200 27,400 A4,200
< 3,960
Al 19,240

02 A2 EH LGS (HAAS, NLWE) 23,200 27,400 A4,200
OR2X=RAIE 4T THEEE= 20,000
= 3,000
Al 17,000
OZ2X=AAIE AU ZEHI 3,200
= 960
Al 2,240

307 @I2t01 & 616,695 627,833 A11,138
[ 96,127
Al 520,568

10 Al2IS XA EEE 22X 592,545 603,323 A10,778
OZ2X=XAlE 23| 592,545
= 88,882
Al 503,663

11 AMEISXAIEEXS 24,150 24,510 A360
OZX=KAIE SALE 14,400
= 4,320
Al 10,080
OZ2X=XAIE IHEIIs2st IISHEXH 9,780
< 2,925
Al 6.825

SZ2AIE O0l=ZSAHIA XIE 21,330 21,330 0
Jl 14,931
& 2,559
Al 3,840

307 lztol & 21,330 21,330 0




2A:

X XH -
o=

CHol: MBS (=CR-E))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 14,931
=S 2,559
Al 3,840
11 ARRIS XA E X 21,330 21,330 0
OstRE2AI4 OloISSAMHIA I 21,330
Jl 14,931
= 2,559
Al 3,840
SIREAIE YAX &Y XIESXE 15,000 16,629 1,629
Jl 7,500
= 5,250
Al 2,250
307 gl2to| & 15,000 16,629 A1,629
Jl 7,500
= 5,250
Al 2,250
11 AMEISXAIEEXS 15,000 16,629 1,629
OStR2AI4 g4N AEXE X 15,000
Il 7,500
< 5,250
Al 2,250
HAZS0 241,000 241,000 0
= 216,900
< 16,870
Al 7,230
301 EtE NS 241,000 241,000 0
= 216,900
== 16,870
Al 7,230
01 ARSI 2E AL S(SREXMH) 241,000 241,000 0
DU=EXNAE =54 dAH=0 175,000
= 167,500
=S 12,250
Al 5,250
OUE=EXAE +=2A HHS0 66,000
= 59,400
= 4,620
Al 1,980
dd8sS & dEIEEI 10,400 10,400 0
[ 1,000
Al 9,400
201 er23 | 3,000 3,000 0
= 1,000




SM: ClEIIEHAED
33 od =X &
29l 2HES (crel: &8
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,000
01 AtR2t2|HI 3,000 3,000 0
OYddEsS & 28388t s =M S 3,000
s 1,000
Al 2,000
202 04| 6,400 6.400
01 SLHoIH 6,400 6,400
OYddEs & Hgds g4 6,400
203 HE=H] 1,000 1,000
03 A= PR FAI| 1,000 1,000
ONEIIEAIHE RN 1,000
QY Al et 2% 54,240 29,390 24,850
s 5,172
Al 49,068
201 et 3| 34,000 16,950 17,050
01 At2t2l] 34,000 16,950 17,050
oogdelty =& 32,400
Oogdelss M| 21 E2HIS 1,600
301 EtE N = 17,240 9,440 7,800
= 5,172
Al 12,068
03 A2 H A0S (XILTHH) 17,240 9,440 7,800
O ENE X3 17,240
=S 5,172
Al 12,068
405 KHaHE SH 3,000 3,000
01 AL =S F=H| 3,000 3,000
ONgdelE=s A £X 3,000
sSsud N 162,500 162,500 0
308 AHAIEMSOIH 162,500 162,500
08 WSEJ|A0He 2 & 162,500 162,500
ON4(2=%) ssua X 162,500
g Nz |4 81,510 81,490 20
=S 2,590
Al 78,920
201 et 3| 11,000 11,000
01 At22t2l] 11,000 11,000
Oo4das g2 11,000
202 04l 6,400 6,400
01 SLHoIH 6,400 6,400
OWdNE |4 & etR2I0tE XA g2F
s 6,400
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= 21,748
=S 9,787
Al 22,835

201 fer=3| 6,370 6,370 0
= 2,548
= 1,147
Al 2,675

02 S3=gHl 6,370 6,370 0
OSet=d22HAIAE 6,370
= 2,548
= 1,147
Al 2,675
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= 19,200
= 8,640
Al 20,160
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Ok Sed 48,000
= 19,200
< 8,640
Al 20,160
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= 7,880
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02 35244l 15,200 15,200 0
Ott2ZAIE SUZ A RAE+ 8,000
= 3,200
=S 1,440
Al 3,360
Oat=28 2 AHEMH Sl 254l 7,200
= 2,880
= 1,296
Al 3,024
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SN ARSI
3 Mg
Rl AtE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 12,500 20,000 AT,500
Oatd ol E HzAE X S 12,500
= 6,250
< 1,875
Al 4,375
02 S5=g4l 12,310 24,798 A12,488
OdteddEalis LM RJU S 12,310
= 6,155
< 1,847
Al 4,308
ATHOH L Xl ZOI(AHEHSHELHE) (I2EX) 4,568 4,568 0
= 2,283
< 687
Al 1,598
201 =3 4,568 4,568 0
= 2,283
=S 687
Al 1,598
01 At 22|l 4,568 4,568 0
Oategoi S0 ZE NS S S 4,568
= 2,283
= 687
Al 1,598
AUSHESHLM(BAER) 517,686 862,579 A344,893
= 368,022
= 44,898
Al 104,766
101 @1A4H| 15,000 15,000 0
= 11,181
= 1,146
Al 2,673
MU IIRINZZENSES 15,000 15,000 0
OALIRMHEEE X2 212 15,000
= 11,181
< 1,146
Al 2,673
201 Ler=23 | 1,000 1,000 0
= 745
S 76
Al 179
01 At2teltl 1,000 1,000 0
Odgd Holls gHe =S8, LMt
2 HNH S 1,000
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X XH -
o=

=aak &glﬂjal EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 745
=S 76
Al 179

202 04| 1,000 1,000 0
= 745
= 76
Al 179

01 2K 1,000 1,000 0
OM& =Y oAb & Gl 1,000
= 745
= 76
Al 179

206 M=H| 20,000 23,998 A3,998
= 14,900
= 1,520
Al 3,580

01 M=4l 20,000 23,998 A3,998
ONdEY YHl S+ S 20,000
= 14,900
= 1,520
Al 3,580

401 AlEHIZ 01 480,686 815,081 A334,39%
= 340,451
= 42,080
Al 98,155

01 Al&H| 480, 186 814,081 A333,89%
OALIRHE SE LA 480,186
= 340,081
< 42,040
Al 98,065

03 Al 2 CHYI 500 1,000 A500
OALIRHE SE LA 500
= 370
< 40
Al 0

LotH S A 170,928 205,060 A34,132
= 109,313
== 17,159
Al 44,456

101 @124H| 60,000 60,000 0
= 39,657
== 6.073
Al 14,270
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S

PP va
0l oU oM
P
[0
for

1=
o

SA - Z3F - SRA(3) - HRAEY

- HyS

Ofl &F2H

HE
0l &y

hoH

=

60,000
60,000
39,657

6,073
14,270

60,000

SR

=

3,000
1,982
304
714

3,000

Mo

=

3,000
3,000
1,982
304
714

3,000

202 044l

Mo

=

800
528

81
191

800

2

i
=
2
=

O
g J
%
Ofi
=
o
4
>
He
=
1]

Mho

=

800
800
528

81
191

800

206 =4I

Mho

=

18,000
11,990
1,810
4,200

24,000

26,000

01 XM= 4l

OgollE =Ml e S

hoH

=

18,000
18,000
11,990
1,810
4,200

24,000

26,000

401 AIEHIZ 20

hoH

=

89,128
55,1%

8,891
25,081

117,260

N28,132

01 A=l

O EAXNLE LIRFA

hoH

89,128
89,128
55,156

8,891
25,081

117,260

N28,132

0z
o
H
0%
%
Off
@
=

177,000

122,000

55,000

20,000

20,000
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X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
M ORIMZZ2NSE S 20,000 20,000 0
Odgd =IHolls gH U2 20,000
202 044 2,000 2,000
01 =LHOHI 2,000 2,000
Ogsol 2M & 2582 =8 S 2,000
206 M=H| 5,000 5,000
01 M=8l 5,000 5,000
OFz= 48X dolis 4M 78 S 5,000
401 AlEHIZ SO 150,000 100,000 50,000
01 Al&H| 150,000 100,000 50,000
OgaliE LM =IHAet 150,000
254 2 41,240 15,960 25,280
= 6,372
Al 34,868
401 AIZHIX S0HH 41,240 15,960 25,280
=S 6,372
Al 34,868
01 AlZ8| 41,240 15,960 25,280
2o 2 21,240
< 6.372
Al 14,868
OE=#+ dolis 2H = 20,000
SHHE SE S (XIXHA) 2,300 2,200 100
= 1,180
< 345
Al 805
202 04l 2,300 2,200 100
= 1,180
== 345
Al 805
01 =LHO LI 2,300 2,200 100
O=MHz S22l 2,300
= 1,150
=S 345
Al 805
X2ke| 2,761,278 4,020,684 1,259,406
< 32,534
Al 2,728,744
2 & sx2el 2,110,150 1,932,969 177,181
101 @124H| 439,600 407,419 32,181
M ORINZZE2NSE S 439,600 407,419 32,181
Odtz= & =AU 2el JISxele 29 434,000




SH: AT
3 Mg
el =2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJtz= ¢ =X 22l JIsHdelgHIl=hl) 5,600
201 er23| 6,400 6,400
01 At22te|Hl 6,400 6,400
Oz & =12l gRF4 5,600
Od=zold JISHelLt I=H(EAa &
X 800
202 04| 3,500 3,500
01 2LHoIH 3,500 3,500
OJtz+ & =Xj2el g2 3,500
206 MH=Hl 7,000 7,000
01 MZH| 7,000 7,000
OJt2= 228 W27 7,000
401 AIZHIX 20HH 1,644,000 1,472,000 172,000
01 AlZ2H| 1,642,000 1,470,000 172,000
O=Alzel 842,000
AU 2Z=X M= 90,000
-4t 2E=A M= 90,000
—139 JI23tE M= 70,000
—2d9 JIZ23tE M= 70,000
—339 JIZ23tE M= 70,000
—4AS I3t M= 70,000
-5 JtZ3tH M= 70,000
-6 JI=23tE M= 65,000
—739 JIZ23E M= 65,000
-ZANE X4 M= 115,000
-E2s 48X M= 67,000
O2s= dgad = =4 110,000
Ottt 2E=X =5 &8 F 80,000
OJtz4 2tel 490,000
-3 A% 29 A2 Jt2 ) 80,000
-STeHS JiZ2s 2el 60,000
- NZAAS Jt2 4 2l 70,000
— Qe D24 2t 100,000
—EPI2 el D24 2e| 30,000
-5 2 30,000
-233 2l 30,000
-tz 2L 24 60,000
—Jt24 olA (& Hel) 30,000
OTEZ Itz =ZHL(01ALHAH S) 50,000
Oan2 gldxel 50,000
OJt=ate alA 24 20,000
03 AIESTHYI 2,000 2,000 0




FA AE=s
M A e
el =Xz (Che 2l
A - ZE - BR(E) - AIRANY - BES ofl &t G o HIDEZ
OJtz2== & =X2e| GRFA 2,000
405 AtatE = 9,650 36,650 AZ27,000
01 ML ESF SHI 9,650 36,650 A27,000
OuIFII +&(50H) 3,000
OJIHIS +&(50h) 4,250
Odgs Fa(2H) 1,400
OblZ2& %I 2 (1) 1,000
ZEA =4 601,076 619,352 A18,276
101 @12A4H| 376,835 349,216 27,619
04 JIZtNZ22XNSE+ 376,835 349,216 27,619
O=xzts 4ot &AM 2l S 372,085
Ox3tR Ao & AR 2r2|BHIISHI) 4,800
201 2= 42,941 40,836 2,105
01 AtR2t2lt] 3,836 4,636 A800
OZZAl =4 223 & JIEt 24l S 2,636
Ox3t7 AlTet DISH(E7A DER}) 1,200
02 S3=4gl 39,105 36,200 2,905
OZAN=s e 7FHl S 20,000
OAgRE 22| 9,520
OEAlI=3tEd] 4| 5,500
O=gs TAMds &) & dot=z 2= 4,085
202 04l 800 800
01 =LHAHI 800 800
OZZAl =2 g2 800
206 =4I 90,000 100,000 10,000
01 M=4l 90,000 100,000 210,000
OZxstF o 2 AHEY Mz 90,000
401 AIEHIZ R HYI 90,500 128,500 /38,000
01 A&l 90,000 128,000 /38,000
O2&=A 2atd sz x4 90,000
03 A2 THYI 500 500 0
OZ&Al =4 500
MEMBIAZR0] 28 X (HEAIY) 50,062 44,363 5,689
S 32,534
Al 17,518
101 e124d| 50,052 44,363 5,689
== 32,534
Al 17,518
04 JIZtN2Z2 S8+ 50,052 44,363 5,689
OEAI=R2ed fY 25,026
< 16,267
Al 8,759




SA A=
B phe s
&9l =Ac (e & )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odgeai= ROUIOIH 212 25,026
= 16,267
Al 8,759
Dlghel = =4 12,679,900 13,006,400 A\326,500
= 218,250
= 5,460,000
== 145,000
Al 6,856,650
Abtg2= &4 10,920,000 6,000,000 4,920,000
= 5,460,000
Al 5,460,000
201 er23| 10,000 0 10,000
= 5,000
Al 5,000
01 At2teltl 10,000 0 10,000
OFAttgd= 820 =578 S 10,000
= 5,000
Al 5,000
202 04| 4,500 0 4,500
[ 2,250
Al 2,250
01 =LHO LI 4,500 0 4,500
OZAbIEE= HRFN S 4,500
= 2,250
Al 2,250
401 AIEHIX SO 10,905,500 6,000,000 4,905,500
= 5,452,750
Al 5,452,750
01 AlZ2H| 10,755,500 5,909,000 4,846,500
OZAlbtgd= &4 10,755,500
—83g TAEZd=s =4 2,000,000
= 1,000,000
Al 1,000,000
-0=8 ZAEZ=s &4 3,700,000
= 1,850,000
Al 1,850,000
—-F9Y A= =4 4,500,000
[ 2,250,000
Al 2,250,000
—JIEt JI2= Higds =4 S 585,500
s 277,750
Al 277,750
02 Zeltl 150,000 84,000 66,000




A =X
oty A st
Olciel = =4 (CH9: &S1)
RA - BB S9I(S) - MRAE - A HIDEZ
OFAlttad= &4 150,000
= 75,000
Al 75,000
38 =4 22 110,000 50,000 60,000
= 55,000
Al 55,000
401 Al HIZ S 0HHI 110,000 50,000 60,000
= 55,000
Al 55,000
01 Al&HI 110,000 50,000 60,000
OA0tEIE &4 110,000
= 55,000
Al 55,000
NAM &A=, stuls, 2 110,000 240,000 130,000
(Or2+)(HetAd)
= 55,000
Al 55,000
401 Al HIZ R 0HHI 110,000 240,000 130,000
== 55,000
Al 55,000
01 Al&HI 106,100 233,400 127,300
Oz x4 106,100
& 53,050
Al 53,050
02 Zeld| 3,500 6,000 22,500
Otz =4 3,500
= 1,750
Al 1,750
03 AlESTHYI 400 600 A200
Otz x4 400
& 200
Al 200
NAM EAls=, Sz, Ji24 180,000 240,000 60,000
(S ms=)(MEtAr)
= 90,000
Al 90,000
401 AIZHIX S0 180,000 240,000 60,000
=S 90,000
Al 90,000
01 A28l 176,400 235,200 58,800
Otz =4 (3MHA) 176,400
< 88,200
Al 88,200
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SN ARSI
3 Mg
el S EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Ox# a=2J ) 2,000
SEAREX HY 25,003,000 5,003,000 20,000,000
401 Al HIX S0 25,003,000 5,003,000 20,000,000
01 AlZH| 25,000,000 5,000,000 20,000,000
O32 MNREX e 25,000,000
03 AlESTHYI 3,000 3,000 0
S8 M=EX e 3,000
SELE & HUlAY 1,289,839 1,798,000 508,161
401 Al HIZL S 0HYI 1,289,839 1,798,000 508,161
01 Al&H| 1,287,839 1,796,000 /508, 161
OZASE U == o84 SFNEAY 200,000
OME LR J|BAIZ(01RI0ISE) HE A 600,000
O3 EXZ ~gAEY 400,000
OZE3Y(=8 8-17 L) Wats+ 87,839
03 Al 20HHI 2,000 2,000 0
O33xd & A 2,000
SEU XS 2e| 230,500 215,500 15,000
201 er2&| 130,000 115,000 15,000
2 s5=34l 130,000 115,000 15,000
oolglolgaognas3esa(dIz, sS4
g2 8) 130,000
401 Al HIZ R 0HHI 100,500 100,500
01 AlZ8| 100,000 100,000
OO02I0I&E 20 &CCTV &KX & WM A 100,000
03 Al 20HHI 500 500 0
OO OIBAOICCTV £X & WHAS 500
2 Scte HHIA (HEALY) 9,000 11,700 A2,700
= 4,500
Al 4,500
401 AlZHIZ S 0HbI 9,000 11,700 A2,700
= 4,500
Al 4,500
01 AlZ2H| 9,000 11,700 A2,700
O3 A=t £X 9,000
== 4,500
Al 4,500
SEUoH ol S7A 646,918 0 646,918
= 423,459
== 169,384
Al 54,075
401 AIEHIZ SR HYI 646,918 0 646,918
= 423,459
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PSER
o e

el

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

169,384
54,075

01 A=l

|
o
02
0
[0
0
2
O
=
i
e
10
1=
%
I

|
M0
0
01
0
[
0
O

1086-13 &) Tao =7

|
1o
02
0p
{0
=
Ho
0
z
&
e
{0
E
%
I
J

|
A
0
0
0
B
i
o
rz
~
&
ne
0
E
%
Il
iy

hoH = N W = N W = N W

=

mhoH

646,918
646,918
63,544
4,772
16,709
5,063
67,839
43,919
17,568
6,352
74,978
47,489
18,996
8,493
385,067
257,534
103,013
24,520
55,490
32,745
13,098
9,647

646,918

NS aed =R ALS

H

33,000
33,000

33,000

401 Al HIZL S 0HYI

H

33,000
33,000

33,000

01 AlZHI

OgLl ~Keits olrdde &4

O=&33 FHAE £X

H

33,000
25,000
25,000
8,000
8,000

33,000

Mo

1,884,294
622,446
479,500
782,348

774,714

1,109,580

180,200

85,200

95,000

9,000

4,000

5,000

of= MAHEHl X S

9,000
3,000
1,000
5,000

4,000

5,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 700 700
01 2LHoIH 700 700
O&tE ol TIGHRI(=AMXIS S)ZA 700
401 AlZHIZ S 0HbI 170,500 80,500 90,000
01 A28l 170,000 80,000 90,000
Ot el ol & 25U 170,000
03 Al = THHI 500 500 0
O4teTHol oer & 2IG A 500
SHALEH ALEHZE AL 21,000 4,949 16,051
= 10,500
s 3,180
Al 7,350
401 AIEHIZ SR OHYI 21,000 4,949 16,051
= 10,500
= 3,180
Al 7,350
01 AlZ2H| 21,000 4,949 16,051
OLIALEY 2R XIS AEHEAL 21,000
= 10,500
= 3,180
Al 7,350
AL (MEHT) (DY) 500,730 237,362 353,368
s 413,511
Al 177,219
101 ©1AH| 15,760 15,392 368
[ 11,032
Al 4,728
M ORNZZ2NSE S 15,760 15,392 368
O ARU(HEAY) 15,760
= 11,032
Al 4,728
401 AlZHIZ 2018 574,970 221,970 363,000
S 402,479
Al 172,491
01 AlZ2H| 560,970 216,970 344,000
AT A (MEAY) 140,470
== 98,329
Al 42,141
OdE PN & Ex(HEAIY) 420,500
= 294,350
Al 126,150
02 Zeltl 13,000 4,000 9,000
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K- BE - E9I(EH) - HRAR - BaS A HIDEZ
A THGH ! X2l (AFAFEHOIIZ XI & EF) 30,570 0 30,570
= 12,228
== 12,839
Al 5,503
101 e124d| 30,570 0 30,570
= 12,228
=S 12,839
Al 5,503
04 JIZtN2Z2 XS 2 30,570 0 30,570
OLHAIEf ORI 2 S 2 30,570
= 12,228
= 12,839
Al 5,503
MNZAIS AlHl RE= 66,326 61,270 5,05
308 XM SOIE 66,326 61,270 5,05
07 AX 2L FE= 66,326 61,270 5,05
OAZr ALY AlHI RS 3 66,326
Z T (HEAY) 100,000 100,000 0
= 50,000
Al 50,000
401 AIZHIZ S0 100,000 100,000 0
= 50,000
Al 50,000
01 A28l 100,000 100,000 0
=dXgae 100,000
=S 50,000
Al 50,000
FHIIGH(AFALEH, &) THOH=SFANY 599,718 0 539,718
= 599,718
401 AIEHIX R0 539,718 0 539,718
= 539,718
01 AlZHI 599,718 0 599,718
OLHSHTIGH (AL, H ) THAH S AN 509,718
= 599,718
BH2IBJHI(ME=X1) 26,960 27,180 N220
Jl23HI (A =R 26,960 27,180 N220
Jl23H(AE =X ) 26,960 27,180 N220
201 Let=Ehl 22,000 22,000 0
01 AtR2t2|HI 22,000 22,000 0
OME =X g4 23| 22,000
203 =4l 4,960 5,180 N220
M EASHLRFAH 4,960 5,180 A220
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